



Nombre: _____

Fecha: _____ Puntuación: _____

$$7^{(-2)} - 1 =$$

$$3^{(-1)} - 1 =$$

$$(-1)^{(-2)} + 7 =$$

$$(-5)^2 + (-2) =$$

$$(-9)^{(-2)} + (-7) =$$

$$(-10)^2 - 8 =$$

$$1^{(-2)} - (-5) =$$

$$(-1)^0 + 10 =$$

$$(-7)^{(-2)} + 3 =$$

$$(-6)^{(-2)} + (-9) =$$

$$(-2)^0 + (-4) =$$

$$4^2 + 3 =$$

$$2^{(-1)} - (-10) =$$

$$3^{(-1)} - 8 =$$

$$9^{(-2)} + 8 =$$

$$(-10)^2 + 4 =$$

$$(-1)^{(-2)} - (-10) =$$

$$(-6)^{(-2)} + 5 =$$

$$5^{(-1)} + 6 =$$

$$9^2 - 2 =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$7^{(-2)} - 1 = \left(-\frac{48}{49}\right)$$

$$3^{(-1)} - 1 = \left(-\frac{2}{3}\right)$$

$$(-1)^{(-2)} + 7 = 8$$

$$(-5)^2 + (-2) = 23$$

$$(-9)^{(-2)} + (-7) = \left(-\frac{566}{81}\right) = \left(-6\frac{80}{81}\right)$$

$$(-10)^2 - 8 = 92$$

$$1^{(-2)} - (-5) = 6$$

$$(-1)^0 + 10 = 11$$

$$(-7)^{(-2)} + 3 = \frac{148}{49} = 3\frac{1}{49}$$

$$(-6)^{(-2)} + (-9) = \left(-\frac{323}{36}\right) = \left(-8\frac{35}{36}\right)$$

$$(-2)^0 + (-4) = (-3)$$

$$4^2 + 3 = 19$$

$$2^{(-1)} - (-10) = \frac{21}{2} = 10\frac{1}{2}$$

$$3^{(-1)} - 8 = \left(-\frac{23}{3}\right) = \left(-7\frac{2}{3}\right)$$

$$9^{(-2)} + 8 = \frac{649}{81} = 8\frac{1}{81}$$

$$(-10)^2 + 4 = 104$$

$$(-1)^{(-2)} - (-10) = 11$$

$$(-6)^{(-2)} + 5 = \frac{181}{36} = 5\frac{1}{36}$$

$$5^{(-1)} + 6 = \frac{31}{5} = 6\frac{1}{5}$$

$$9^2 - 2 = 79$$